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= _ — d =
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Fal=n. 31,840,567 39,096,950 AT,256,383
s 6,902,000
< 1,437,640
s 23,500,927
WESTHEHAZ S 1,093,183 1,725,725 A 632,542
FoME HANS 1,093,183 1,725,725 A 632,542
SHESQHE - 128 2l 1,093,183 1,133,800 A40,617
201 Let2d] 327,024 309,624 17,400
02 2324l 327,024 309,624 17,400
oz22= % HA 307,224
OE¢ts 2 28 &MIIR3
2,900&+8,700=s+12& 302,760
OJl28 AH St23 372,000& 128 4,464
O A& &EHl= Xl 19,800
OJNZ2SEUS BZNMAHAIAY RXE+
1,650,000& 128 19,800
401 AIEHIZ 28I 766,159 824,176 A 58,017
01 A& Hl 766,159 824,176 A58,017
O=sHEZU4SHEX 1,000,000& »100S 100,000
O=IiZ2sUH 67,500
O=It=2suA 1,500,000& 354 52,500
OL=NHzsI+ WA 500,000& »30& 15,000
ONZSEH X 9,090& *1,6505 14,999
O2ets FZAZA HAHAAHE 2=
245,000& *1,040S 254,800
OMNZs - 22tS EHl & RAE=
37,800& 8,700 328,860
sEEdst N 10,000 11,000 A 1,000
=S MA 2tel 10,000 11,000 A 1,000
IS MA 2t 10,000 11,000 A 1,000
201 Let2d] 10,000 10,000 0
01 At 22l 10,000 10,000 0
ORTRMA =, AWL42 S 0,000
E2Hd 8,394,939 14,475,640 A 6,080,701
s 270,000
< 564,340
s 7,560,599
Szl 4,433,939 7,534,640 23,100,701
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s 4,049,599
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OsSHEgseEAHmdy 1,900
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— SALJ 2 200,000& »2[H 400
—&A88 L (EU,AHZ ,EX)
150,000 «4 600
o222+ 70,0003 x4H x43] 1,120
O= &l 3,780
O sdA(atl) 8,000 x14H 302! 3,360
O =42 (2dl) 1,000& 14 302 420
02 2324l 20,558 22,558 A 2,000
O =l 12,498
OWHINI,HED LI (FLR) 10,496
OXASEH(ZR) 1,280 +10H*462] & »34 2,002
OA&ZH KXH 5,900
Os= WF2II +=2l 150,000 = 10CH 1,500
OHEIl =2l 250,000& »23] 500
OM& &l =2l 3,500,000 *1CH 3,500
OdsEd ¥ SHE =g 200,000& »23] 400
O=Z223LHA 2,160
OE2E+3 MRY 23
30,000& 128 360
OZZ2E+3 ARY M3
150,000& «12& 1,800
203 YR =2t 1,000 1,000 0
03 Al =AY 2= 1,000 1,000 0
ozzae IRFA 20,000& x5 x102 1,000
206 M= Hl 34,500 38,500 A 4,000
01 M= 4l 34,500 38,500 A 4,000
oLz X2el M7 34,500
QU HEY 7 5,000& 5004 2,500
OMEXM(E3t2s, 2al) 7€
7,000,000& 28 14,000
OXIZXM(SStE, 0tA22) ¢
7,000,000& 28 14,000
OS2 EHUE(YXE dsttztg) 2
80,000& *50= 4,000
405 KtabH S| 3,600 3,600 0
01 AL ESFH S 3,600 3,600 0
OEzE+3 MRPH HFZ & 37 78 3,600
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O3g =40t2 ot2 HHISA 25,000
O0tY A0t0tE ot S EZEH I AL 40,000
Ot 20t ot HIZ AT A 35,000
Osdl €=20t2 ot HHIALE 40,000
Osadl #sits ot HHIAY 50,000
ONE A0S ot FHHISAH 40,000
ONE ES0t2 ot HHISAH 40,000
OHE IS0t o2 HHIBA 30,000
ONE &-0tE o2 HHISA 40,000
OJIEt=E2 EXEBMU(H2Y, 222 A 0
5 110,000
0325148 sSTli3s2t &2 200,000
OS2320I22 MUETE SHILAEAZA 300,000
Os= X+ ot HHISA 100,000
OA0I0IE NUEE SILEAZA 250,000
o=, sHHEE=z, JIetE2 S UiulA &xX
3 A 200,000
03 A& 20H Y| 6,000 6,000 0
OAN&E=20bI 6,000
Ot=2 o2 S X2l 400,000 400,000 0
401 Al HI L 2 0HHI 400,000 400,000 0
01 A& HI 400,000 400,000 0
outsotd Xl &2 400,000
oontEotd A2 Z2AH(L=10km) 300,000
ODtsotY XA & A2 AF(L=20km) 60,000
OltS LM AIEZ2(IIE A L) & XIS AH(100
A2h) 40,000
T2 WS XA 21,423 12,351 9,072
101 @121l 21,423 12,351 9,072
04 JI2ZtH 22 XNEE % 21,423 12,351 9,072
OuWsS s XA o1 2AH| 21,423
oJl=3 90,000& 37 A1 +6H 19,980
OBEggg= 19,980, 000& *5% 999
O2tAlH] 2,000 *37M A x 1L x6H 444
g EXI Ay 30,000 70,000 AN 40,000
401 A EHI L2 O 30,000 70,000 £40,000
01 A& HI 30,000 70,000 AN 40,000
Oz EXE Ay 10,000, 000& *3JH 2~ 30,000
S 28 I YXAE 30,000 45,000 A 15,000
201 et A | 30,000 45,000 A 15,000
01 AFR2t2l Yl 30,000 45,000 A 15,000
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OT2FHl I gx= 30,000
CREMXR)HM=EY 150,000 200,000 A 50,000
401 A& HIZ 2018 50,000 100,000 A 50,000
01 A& HI 50,000 100,000 250,000
OXNYgE, 2% &4XFE HM=& 50,000
403 UHXISHHE X201 H 100,000 100,000 0
02 SO 2SO HSHAHE X 2| &AL H 100,000 100,000 0
OXNYE, 2= &4X2 =&Y 100,000
szl 150,000 500,000 A 350,000
401 Al HI K 201 I 150,000 500,000 /350,000
01 A& HI 150,000 500,000 A 350,000
O DY FUBAUAIHAS 8 50,000
OZU ng B (2t NHIHE 5) 100,000
SEESE A 549,058 609, 731 A60,673
< 384,340
s 164,718
101 @124l 549,058 609, 731 260,673
< 384,340
s 164,718
03 RIHAZ 2N E =+ 549,058 609, 731 A60,673
ozzExd(Uz) 549,058
OJdles 3,000,000& »13H +8& 312,000
< 264,066
[ia 47,934
O&¥d=+% 155,000& = 13H »12& 24,180
< 24,180
Ooflg=¢ 130,000& »13H 128 20,280
< 20,280
OPIE=E= 90,000 x13¥ «12& 14,040
< 14,040
OZEFOtHI 1,410,000 13 2 & 36,660
= 36,660
Odir=E+g
2,750,000 /226+8% 13 17 21,514
< 21,514
Oet&E =g 300,000& x 18 «12& 3,600
< 3,600
ONeRRLY
2,750,000% /226%1.5%15A1 2tx 13 +8& 28,474
(OPATER=E: RS 270,000 »2H x43] 2,160
o4 2= 400,000& x13H «8& 41,600
SRS 40,000,000 *1H 40,000
CE2EFE 2RE 7Y 350,000& »13H 4,550
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A - ER(EN) - AR - B of & o4 SSa HIDZ2
g Motd 200,000 740,000 540,000
401 AIEBIL 2 CHEI 200,000 740,000 A540,000
01 A€ dl 200,000 740,000 A540,000
O/SuE Mote 200,000
Ot A8ue ML S A 100,000
O3 AW MHIIHESA 100,000
SAY 1,455,000 3,305,000 A1,850,000
= EAHY 1,055,000 2,705,000 21,650,000
401 AIEBI L 2 CHEI 1,055,000 2,705,000 21,650,000
01 A€ dl 1,050,000 2,700,000 21,650,000
OZ ALY 1,050,000
O=& EXE&HI(ZT0t2, dXots, &I
~E A2, Zd0ts ) 100,000
OZE15H(E30I2)E2 SHETTA 100,000
ORZ25E (HAMDIS)E2 SHEI DA 200,000
OZE25d(+X2)E2 LTS AM 100,000
OZT7ad (L~-BHOIS )2 &Y 50,000
OPC6S M (FB-LAUA)EE SHEHTA 100,000
OZC16S M (HHOIS)T2 SHTHTA 300,000
OE2PHLISA(NLZE B HT)
g) 14 100,000
03 A2 2 THHI 5,000 5,000 0
OA & 20HI 5,000
=Xzt 400,000 600,000 200,000
401 AIEHI L 2 CHYI 400,000 600,000 /200,000
01 Al&HI 400,000 600,000 200,000
OzZERA &AL 400,000
O=E63d 2 3L XEZMIAF(L= 80,000
ORZ1254 2 24 AFALSLT
400,000& 200 2 80,000
Ozk18sd 2 44 E25F1EHIS 80,000
OZZ95H @ 3MA OtAZHMNRIIB A
5km) 160,000
SHEZRAY 1,406,000 2,736,000 A 1,330,000
SHEZZAY 1,006,000 2,136,000 21,130,000
401 AIEHI L 2 CHYI 1,006,000 2,136,000 A 1,130,000
01 Al&HI 1,000,000 2,130,000 A 1,130,000
OSHETZZAM 1,000,000
OENEHYHI(S4, HE~0t2, H3
~23t0t2 8) 400,000
OUl20tS(n4E106) &2 SHZZIA 100,000




A R =y
M E2A4A
Cel: sHESZ MY cet )
= - 4 14
SN FH-SA(EN) - MBAY - BES e HlnE2
OYS&~8E2H(0t2101) &2 T 100,000
oYY (sai202) & EZEZA 200,000
OMPH~HMEZ2H(SH102) =2
2 1A 100,000
OgAnt=S(=al305) &2 SHEH 100,000
03 A& =2 THHI 6,000 6,000 0
OAIE 2 HHI 6,000
SOHZEZZ RI22 400,000 600,000 200,000
401 AIEHIZL 20 400,000 600,000 A200,000
01 A& tl 400,000 600,000 200,000
O=sHEEZ R 22 400,000
Os0HET Z(&HAH03) ML X
Ak (L=20Km) 80,000
OsHEZZ(AHR303) 2 i
HI S At 80,000
O=sHEZ2(14108) 2 3MA
L I3 AH(L=3.5km) 160,000
OsHEZZ2(Sdi102) 2 22
XIS AH260& 2H) 80,000
SAtus2el 8 A 1,100,000 900,000 200,000
s 270,000
< 180,000
s 650,000
O 02 2AAEMNE 200,000 300,000 A 100,000
401 A& HI K 201 I 200,000 300,000 100,000
01 A& HI 200,000 300,000 A 100,000
ooeoE2sY |2 2 200,000
LoBs RS JHHAY(BX) 360,000 110,000 250,000
= 180,000
e 180,000
401 Al HIZ 2018 360,000 110,000 250,000
< 180,000
s 180,000
01 A& HI 360,000 110,000 250,000
OLES A HLHAY 270,000
Ogs gHE 22E 90,000
< 45,000
s 45,000
Osdtol &+ B2 90,000
< 45,000
[ia 45,000
Old & Z2=2¢% 90,000
< 45,000
s 45,000
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SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OMEH 0|HEZ HH| 90,000
OM20tE 0|HEZ2 FH| 90,000
&< 45,000
= 45,000
BaistA A AR 540,000 460,000 80,000
g 270,000
= 270,000
401 Al HI L 204 540,000 460,000 80,000
= 270,000
= 270,000
01 Al&H| 540,000 460,000 80,000
ONHANEFH Bzt LAY 540,000
Ry 270,000
= 270,000
SsE&3Es A 6,260,680 11,420,508 N5,159,828
& 80,100
= 6,180,580
Xl ot 2] 51,680 81,508 N 29,828
& 5,100
= 46,580
KXoty =252 N2 6,680 26,508 N 19,828
201 Bt 6,680 6,508 172
01 AP 22| H| 3,000 2,000 1,000
OXlotg =& XA & 22 3,000
02 2324 3,680 4,508 A 828
OXldl4e BEXZ2=Y HAHMZ2U23
5,000 *23 A x12& 1,380
OXldts BEXA=EYU AEEH KA 22
100, 000 #2304 A 2,300
Kot Y X2 2e(BX) 20,000 20,000 0
& 5,100
o 14,900
401 AIEHIZL 2 0HY| 20,000 20,000 0
& 5,100
= 14,900
01 Al&EH| 20,000 20,000 0
OXots OISAEBIEZAN & 8X2 |Ada=] 20,000
== 5,100
= 14,900
Xlots  gtxl=2 22 (KAl 25,000 35,000 A 10,000
401 Al HI L 2 0HHI 25,000 35,000 A 10,000
01 Al&H| 25,000 35,000 A 10,000
ORXZ2 FASR(NAH) L HSEA
2,500,000 1004 &~ 25,000




M AL
M =EHes X2
Pl sgEdatietgy (22 &d)
A - ER(EN) - AR - B of & o4 SSa HIDZ2
S E 6,149,000 8,991,000 2,842,000
< 45,000
= 6,104,000
A E2sIIEHAIE EH| 1,271,000 1,066,000 205,000
101 124 4] 6,000 6,000 0
04 JIZHNZ22XNSES 6,000 6,000 0
047X sl 4,500
OIIEFLFX FA2AE 4,500
OW+=& S 2cl 1,500
Os8ti=& SX2clAL 1,500
201 2Bt2 | 110,000 60,000 50,000
01 AtR 22l ] 70,000 20,000 50,000
O=gIIEtAIE ZHIEXZ 70,000
OsgllgtA g 2ies7 FHlagxz 10,000
Ods sdE=1g FHSX= 10,000
O=sg& Kot =2IA =2 50,000
02 524t 40,000 40,000 0
0532 £ MA 20,000
OA£&EHl X 20,000
401 AIEHI L 2 CHYI 655,000 500,000 165,000
01 Al £ HI 650,000 500,000 150,000
OYZTH € == |X&2IA 200,000
OAn2 =IIBtAIE FHIAS 300,000
OM=Xl BHADI=EX 243 150,000
03 Al€ 20 H 5,000 0 5,000
OAlIE2bI 5,000
403 X SHHSA=01H 500,000 500,000 0
02 BJI12SoUet == 2AE AL 500,000 500,000 0
OLNEXNT sYINIEAIE FHIAMS(A) 500,000
AHEIsINBAIEEH (s2) 615,000 1,355,000 AT740,000
401 AIEHI L 2CHYI 615,000 1,355,000 AT740,000
01 Al £ HI 615,000 1,350,000 A735,000
OxMLsYILALZEH (52) 615,000
O1ld =0t= s2AH FHISA 50,000
Odd aiZots =2 FHISA 30,000
Oote HElS 2 HZHESAM 60,000
Odtol SEXNT S8 MEZSA 40,000
Odtol SSEXNT =2 MEHESA 40,000
OUIt XN =2 MEHSA 35,000
Ogd HE27 52 SHELTAY 30,000




A A&
M =EHes X2
Sl S Al B R Y] CEEEED
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
OM&E SX0tE8 =28 ZESA 30,000
OME IIEOE s2 ZESA 40,000
OR0 X =2 HZHISA 25,000
O3lst otoitE s2 HE=SAH 30,000
O3lsl AHile s2 SFZHEISA 25,000
OO0t &7 s2 HESAH 25,000
Ot 2002 s2 HESA 35,000
Osdl 2X0te s28 ZE3A 30,000
Osdll ot&0IE2 s2 SFZHESA 40,000
OHE B20t2 =2 HUISAM 50,000
ARP=HI|BLAIZEHI (22U £2) 1,210,000 2,145,000 A 935,000
401 Al HI L £ 0HHI 1,210,000 2,145,000 A 935,000
01 A& HI 1,210,000 2,140,000 A 930,000
OAARSHIIBIAILZ Y| (BHHER) 1,210,000
ONYd 2E0t2 S22 FHISA 30,000
O1LH =0t2 Sth=2 ZHISA 40,000
O1NYd HR0tE2 S22 FHISA 40,000
OALA HADIES S22 JHIS A 25,000
O&dt 0lS0tE2 S22 FHISAH 20,000
O&AE M E0IS =2 HHISAH 45,000
Ootg =02 S22 FHISA 40,000
OotY £=2XF =2 Al ZSAt 40,000
Odt0l Sx0t2 S22 HUIALE 90,000
Odtol SEX7 22 HHISAH 40,000
O&el s+ Sth+=2 FHISA 25,000
OWUIF AZXF =2 AUl ZSAt 35,000
OYE M=0ts =2 STE A 60,000
OYs UHWEOS =2 X SAH 70,000
OY92 22X 7 =2 HHISAH 50,000
OY2 AXF =2 AU AL 100,000
OME HHOIS =2 HHISAH 40,000
OMNE 30t2 Sth+=2 FHISA 35,000
OF% XN+ 82 UMY 100,000
OF8 MHKX T =2 HHlSA 20,000
OR0 SLYSEXNF S22 A 25,000
OF0 S S22 FHISA 20,000
O3g MEDIS =2 Al SAH 25,000
O3lst 4=0tS =2 HHISAH 30,000
033 X0t =2 HHl SAt 20,000
O3 =490t2 Sth=2 HUl S A 25,000
O8% =3 JUlAIY 35,000
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M =EHes X2
el =M A B GEERED
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
OO0t BRXF Sti=2 ZHISAM 35,000
ONF gsX+ Sti=2 ZHIZA 20,000
ONE =30t =2 FHISA 30,000
AL=sgIIBAIES (s 84S YY) 800,000 375,000 425,000
401 Al HI & 28I 800,000 375,000 425,000
01 A& HI 800,000 375,000 425,000
OLALsYIBAIEHY (s2E8+0HE) 800,000
Ol S4X7 =28+ HLAY 300,000
O&el X7 =28 2EFMLAY 30,000
O#cl 8+ 2% E&XSAM 30,000
Ot Z2&EXF S22 FUISA 35,000
ONE FdltS &+=& EXSA 50,000
OFe HAHXT sHE=IHLSA 30,000
Oty Sk 822 ZUHIZA 25,000
Ot sESAMIF =s2E HEAY 300,000
FBEIIBAIL B (2B ) 465,000 295,000 170,000
401 Al& Bl & 28I 465,000 295,000 170,000
01 A& HI 465,000 295,000 170,000
OLAL2sYIBAIEEUI (AT X)) 290,000
Og2 247X E3A 150,000
Osall IHELZRX HHISA 40,000
ONE HEAF X HHISA 100,000
OAFX M= 175,000
Ond A28X MU= 8,000
O&tat AT M= 6,000
Odtg 28X M= 5,000
O3dtol 2F X HEH= 11,000
O&el 28X M= 10,000
Ot 2F]X HEH= 12,000
Ogd8 28X M= 7,000
OZ2 A=8X MU= 10,000
OM&E 2FX HEH= 15,000
O+ A2X HEH=x 18,000
O3l 2F]X MW= 14,000
Oty 2% X M= 18,000
sol AFX MW= 15,000
OANE 28X M= 26,000
ARDEQIIBASTH (YU A L D2 85,000 265,000 180,000
401 A& BIZ 201 8] 85,000 265,000 A 180,000
01 A& HI 85,000 265,000 A 180,000
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OAME I AEFH (I AL
dl) 85,000
Odtol QX T =222 ZHISA 30,000
OgE UE~-EEF2 Ot HHISA 35,000
ONE =20t A2 ZHISA 20,000
ARSI BAEFZH(EE R =58) 55,000 0 55,000
401 A& HIZ 201 I 55,000 0 55,000
01 A& HI 55,000 0 55,000
OALRIsYINBALEH(EE T =59) 55,000
el QAaXTF EE7 =5 XA 30,000
ObtY HaX 7 =87 =58 £xMd 25,000
=l A =clAld |X2eld X 180,000 140,000 40,000
307 glz2+ol & 60,000 60,000 0
02 HAFHAANGFEE 60,000 60,000 0
O=x=clA=clAld RX 228l X& 60,000
401 AIEHI L 20HEI 120,000 80,000 40,000
01 A& Bl 120,000 80,000 40,000
O=clAH=clAd KXzl 120,000
I =MEolTH (a4 ) (M) (HEAY) ,318,000 900,000 418,000
401 Al HIZ 201 I ,068,000 750,000 318,000
01 A& HI ,068,000 750,000 318,000
OJHZEZ SZFAMY(ME) ,068,000
403 MtXISHHE X201 E 250,000 150,000 100,000
02 SO 2SUHHEAE R 2 E AL B 250,000 150,000 100,000
OJAHSEXZ SHEZHAD (RAE)(HE) 250,000
X230l A0 A (5| Bt) 150,000 250,000 100,000
< 45,000
s 105,000
401 AIEHI L 201 150,000 250,000 100,000
= 45,000
s 105,000
01 A& HI 150,000 250,000 100,000
OX A= AHOAY 150,000
Odd sZLNM=X MHE==AY 150,000
< 45,000
[ia 105,000
= 2 TH ol ol & 60,000 0 60,000
< 30,000
s 30,000
THoH 91 & M==Xl e+H &l ct 60,000 0 60,000

H

30,000
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